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P i H Hifir LASH 2H 4R 3H3H 4H30H 55 16H 6H160 | 7HISA | SALLA | 9H8A | 104130  11A16A | 12480
K1 Al [ = | g 4y 15:10 14:45 15:00 14:10 15:00 14:20 14:50 16:30 15:10 16:20 14:30 15:00
K2 | A2 | B A fr @ Wi Wi Wi Wi Wi Wi o o o W Wi o
K3 A3 PN fiz £ i £ i3 i i i3 & & i3 & i3
K4 A4 K A m 1. 25 1.27 1. 22 1.90 1.68 0.90 0.97 1.11 1. 05 0. 88 1. 09 1.54
K5 A5 i I8 ms/sec 8. 80 8.52 6. 66 99. 32 59. 83 5.92 17.09 34.91 19.70 10. 10 24.10 12.82
K6 A6 4 K % m 0.51 0.47 0. 39 1.70 0. 86 0.61 0.40 1.24 0.54 0. 38 0.62 1.03
K7 AT B ok Kk B m 0.10 0.09 0.08 0.34 0.17 0.12 0. 08 0.25 0.11 0. 08 0.13 0.21
K8 A8 S = C 0.0 -5.0 1.0 14.5 11.0 18.2 20.5 20. 2 22.5 12.9 11.8 3.1
K9 A9 K = C 0.0 0.0 0.0 9.0 12.5 21.2 19.6 19.6 21.5 14.1 5.0 0.1
K10 | AlO 7S #wo (6 75 1 (6, 75 1 (6 75 1 MEOHIE | MOEEE | EEEE EOHEHE | SRS | RS | BeBEHE BB RS
K11 All FaS B — — — — — — — — — — — —
K12 Al2 S B 3) — — — — — — — — — — — —
K13 Al3 4N B 4 — — — — — — — — — — — —
K14 | Al4 B (mER) 5 Bl Bl Bl Bl Bl 5 5 5 5 5 5
K15 Al5 % i) & cm 30. 0< 30. 0< 30. 0< 10.0 12.5 30. 0< 30. 0< 30. 0< 30. 0< 26.0 24.0 30. 0<
K17 A17 + W OKE g 4y 16:34 13:16 11:21 10:33 11:06 12:36 12:14 10:39 9:38 11:34 5:05 10:14
K18 Al8 = g 4y 8:51 19:01 17:21 17:26 18:56 20:18 19:10 17:29 16:12 17:31 12:05 15:46
K21 B1 pH 7.4 7.4 7.7 7.6 7.4 8.4 7.7 7.7 8.0 7.8 7.5 7.6
K22 B2 BOD mg/1 0.9 0.9 0.5 1.2 0.7 1.0 0.3 0.7 1.0 0.9 0.7 1.7
K23 B3 COD mg/1 1.6 2.2 1.4 5.5 3.5 2.9 3.5 3.3 3.8 2.9 3.3 2.0
K24 B4 SS mg/1 3 2 3 108 81 8 14 25 14 23 31 10
K25 B5 DO mg/1 12. 4 13.7 13.6 11.8 1.9 1.4 9.0 9.2 9.0 1.6 12.3 13.8
K27 B7 K W BE MPN/100m1 49 490 79 110 79 700 1400 5400 3500 220 2200 490
K29 B9 S £ ES mg/1 0.29 0.34 0.25 0.47 0.78 0.09 0.29 0. 26 0.15 0.15 0.21 0. 20
K30 B10 S D) Mg mg/1 0. 005 0. 008 0.02 0. 050 0.09 0.017 0.02 0.024 0.016 0.022 0.024 0.003
K43 C3 Sh mg/1 — — — <0. 005 — — — — — — —
K65 C25 B i) ES mg/1 — — — <0. 100 — — — <0. 100 — — —




#3020

il SHIER=T =2
namE K HEOFE R (E A (202)
1[101061281105020
KR4 &)l ‘ 4 ‘ f ) B4 & ‘ B ‘ fembifL | HEF624F (19874F)
&y HH EE¥va LA8H 2H4H 3H3H 45 30H 5H16H 6 16H 7THI15H 8HI11H 9H8H 104 13H 1116H 12/8H
K133 D3 kil mg/1 — — — — 0.02 — — — <0. 005 — — —
K134 D4 il #h mg/1 — — — — 0.015 — — — <0. 005 — — —
K135 D5 wOfR M Bk mg/1 — — — — 0.4 — — — <0.010 — — —
K136 | D6 Rt~ o 7 mg/1 — — — — 0.01 — — — <0.01 — — —
K1342 X42 kA A+ mg/1 12 13 13 4 5 14 9 6 7 12 7 10
K1362) X62 FEVMERMGE RS | {8/100m] 5 0 8 50 2 0 5 50 11 10 44 3






